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CIELABu2-Normhelligkeit I*

* Yoc=Yw  nc=100,

I CiELABU2 B9 (YY) 259 (¥,=18, Y, /100<Y<=Y, )
I*(3,6)=22,I*,(18)=50,I*\,/(90)=103

1* 5=102,79y=2,5, 11,—1/2 5=0,40
* 16=50,0Q $,=58,42 D=8,
I*3,622,19,%,=50,00 Y=18

log[i* /1 ]=

CIELABuU2

Normfarbwertdifferenz

Yoe=Yw - nc=100,
I CiELABU2 B9 (YY) 259 (¥,=18, Y, /100<Y<=Y, )
log(dY) = (1/2,5) log[2,5¢,/58)] + [1-(1/2,5)] logY)

1

el
I* =50, dY,=4,27, dY,/Y,=0,2377 _ =~
log(dY)=4,27, m,=0,59 o “1
> s 1
v 2 1
dYoo=11,23,y=25, “A4=1/2,5=0,40
dY;g=4,27, <,=58,42 D;=—-8,42 |
dY3,6=7.52 V=18, dY=4,27 1 bereich
'v,=18
Yn=3.6 1 Yy=90

log AY/Y) CIELABu2

. Normfarbwertemfindlichkeit
=AY Yo=Y ne=100

nc
I CiELABU2 =B (YY) 259 (¥,=18, Y, /100<Y<=Y, )
log(dY/Y)= log[2,5(Y,/58)] - (1/2,5) log{/Y,,)
= (1/2.5) log[2,5¢,/58)] - (1/2,5) logi)

(AY/Y=0,1248y=2.5, 14=1/2,5-0,40

(dY/Y)g=0,2377 758,42 D=8,

(dY/Y} =0,4515 Y,=18, dY=4,2¢
1v7,=18

YN=36 ) Yw=90

CIELABuU2
Normfarbwertkontrast
Cr=(viay) Yo=Yy ne=100
I CiELABU2 =B (YY) 259 (¥,=18, Y, /100<Y<=Y, )
log(Y/dY)= — log[2,5((,/58)] + (1/2,5) log{/Y,,)
— (1/2,5) log[2,5(,/58)] + (1/2,5) log¥)
=50, dY,=4,27, Y /dY,=4 o
=5
1
1

log(Y/dY)=0,62 m,=0,39 _ ~ =~

1
(Y/dY)~0,00,y=2,5, 1{=1/2,5=0,40
(Y/dYYg=4,2Q §=58,42 D,=—8,42
(Y/dY} 6=2,21 Y,=18, dY=4,27 }

'v,=18

Yn=3.6  Yyw=90

CIELABUZ relative Normhelligkeit I*/I*
I Yoc=Yw - nc=100,

I CiELABU2 B9 (Y/Y) 259 (=18, ¥,/100<Y<=Y, )
1 (3,6)=22,1* ,(18)=50,I* (90)=103

¥ goll* =2, 05 V=25, 1§=1/2,5=0,40
* 1g/l* =1,00 $=58,42 D,=-8,4
* 3. _o 44 *,=50,00 Y=18

log[i*/I* ]=0, m,=0,46

log(AY/AY,) CIELABU2 relative
AYIAY Normfarbwertdifferenz
u Yoc=Yw nc=100,
I ClELABU2 B9 (Y/Y) 259 (V,=18, ¥, /100<Y<=Y, )
log(dY/dY,) = [1-(1/2,5)] log¥//Y,)

dYeo/dY,=2,62,y=2,5, 14=1/2,5=0,40
dY;g/dY,=1,00 §,=58,42 D,=-8,42
dYs,¢dY,=0,37, Y,=18 dY=4,27

log [(AY/Y) 1 AYIY),] CIELABU2 relative

Normfarbwertempfindlichkeit
SISU=OYNAYY), yomy e

nc
I CiELABU2 5O (YY) 259 (¥V,=18, ¥, /100<Y<=Y, )
logl(dY)/(AY/Y),] = - (1/2,5) logl/Y,)

(dY/MA(dY/Y)=0,52,y=2,5, 1y=1/2,5=0,40

(dY/YgVIY)= 1, :58,42 D,=-8,42

(dY/Y} g(dYrr =1 :sg Yu 18, dY=4,27 Anwendungs_
» bereich

I*4=50, d¥,=4,27 dY,/Y,=0,2377 }
1v,=18

YR=3.67 Ya=90 T

log [(Y/AY) 1 (YIAY),] CIELABU2 relativer

/Gy =(YIAYY(YIAY), $ormfarbwertkontrast

=Y =100,
I ClELABU2 5O (Y/Y) 259 (V,=18, Y, /100<Y<=Y, )
logl(Y/dY)/(Y/dY),] = (1/2,5) logiY/Y,)

(Y/dY)yo/(Y/dY)=1,90,y=2,5, 1=1/2,5=0,40
(Y/dYYg/(Y/dY)=1,00 58,42 D=—8,42
(YIdYYd/(Y/dY)=0,52 Y,=18 dY=4,27

CIELABu2-Normhelligkeit L*

L* Yoc=L*w - nc=100

L* ciELABu2 =59 (Y/Y,) Y259 (¥,=18, Y, /100<Y<=Y, )
L*(3,6)=22,L* ,(18)=50,L*(90)=103

L*g5=102,79y=2,5, 14=1/2,5=0,40
L*15=50,00 $=58,42 D,=-8,42
[¥3,6=22,19,L%,=50,00 {=18

BGX21-1A

logAY) CIELABu2
AY Normfarbwertdifferenz
YocmL*w - nc=100,
L* CiELABu2 =59 (Y/Y) 259 (¥,=18, Y, /100<Y<=Y, )
log(dY) = (1/2,5) log[2,5¢,/58)] + [1-(1/2,5)] logY)

o
u=50, dY,=4,27, dY,/Y,=0, 2377
Iog(dY)=4,27, m,=0,59

dYo=11,23y=2,5, 11/*1/2 50,40
dYg=4,27, $,=58,42 D,=-8,42 1
d¥3e=1,62 V=18, d\=4,27 1 bereich
'v,=18
Yn=3,6 1 Yy,=90

BGX21-3A

log AY/Y) CIELABu2
Normfarbwertemfindlichkeit
S=(@AYH) YomL*w =100
L* CiELABu2 =59 (Y/Y,) Y259 (¥,=18, Y, /100<Y<=Y, )
log(dY/Y)= log[2,5(Y,/58)] - (1/2,5) log{/Y,)
= (1/2,5) log[2,5¢,/58)] - (1/2,5) log{)

NG Anwendungs
27, VY, =0,2377 1~ Rl
(dY/Y)=0,1248y=2,5, 1§=1/2,5=0,40
(dY/Y)g=0,2377 $=58,42 D,=—B.42
(dY/Y} =0,4515 Y,=18, d\=4,2¢

1y,=18

Yn=3.6  ,Yw=90 =

B
1
1
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log (Y/AY) CIELABuU2
Normfarbwertkontrast

C=(YIAY) Al
L* CiELABu2 =59 (Y/Y,) Y259 (¥,=18, Y, /100<Y<=Y, )
log(Y/dY)= - log[2,5/,/58)] + (1/2,5) log¥/Y,)

- (1/2,5) log[2,5(,,/58)] + (1/2,5) logy)

=100

L* =50, dY,=4,27, Y, /dY,=4 o =
e

log(Y/dY)=0,62 m;=0,39 _ ~ = " 1

_~ 1

1
(Y/dY}=8,00,y=2,5, 1{=1/2,5=0,40
(Y/dY)g=4,2Q §=58,42 D=—8,42
(Y/dY} 6=2,21 Y,=18, dY=4,27 }

'v,=18

¥N=3.600 Y =90 T
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CIELABUZ relative Normhelligkeit L*/L*
LHIL* Yoc=L*w - nc=100,

L* CiELABU2 =59 (Y/Y) 1259 (¥,=18, Y,/100<Y<=Y,)
L*(3,6)=22,L* ,(18)=50,L*y,(90)=103

L*gg/L*=2,05,y=2,5, 1§=1/2,5=0,40
L*1¢/L* =1,0Q §=58,42 D,=-8,42
L*3¢L*,=0,44,L%,=50,00 Y=18

log[L*/L* ,]=0, m,=0,46
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log(AY/AY,) CIELABU2 relative
AYIAY Normfarbwertdifferenz
u Yo=L*w -~ ne=100,
L* ciELABu2 =59 (Y/Yy) Y250 (¥,=18, Y, J/100<Y<=Y,0)
log(dY/dY,) = [1-(1/2,5)] log¥//Y,)

dYeo/dY,=2,62,y=2,5, 14=1/2,5=0,40
dY;g/dY,=1,00 §,=58,42 D,=-8,42
dYs,¢dY,=0,37, Y,=18 dY=4,27

27, dY,/Y,=0, 2377
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log [(AY/Y) | (AYIY),] CIELABU2 relative
Normfarbwertempfindlichkeit
SISU=EYNAYN, v omte 2160

L* CiELABU2 =59 (Y/Y) 259 (Y,=18, Y,o/100<Y<=Y,)
log[(dYM/(dY/Y)y] = - (1/2,5) log¥/Y,)

(dY/Ypo/(dY/Y)=0,52,
(dY/Y)g/(dY/Y)=1,00
(AY/Y}d(dY/v, =189

=2,5, 1§=1/2,5=0,40

log[(dY/YY(dY/Y)]=0, m,=
L* =50, dY,=4,27 dY,/Y,=0,2377 }
1v,=18
Yn=3.6  Yw=90

N
1
1

BGX21-6A
log [(Y/AY) I (YIAY),] CIELABU2 relativer
/Gy =(YIAYY(YIAY), $orrﬂiarbwertkontrast

=100,

L* cieLABu2 =59 (Y/Yy) Y250 (¥,=18, Y, J/100<Y<=Y,))
logl(Y/dY)/(Y/dY),] = (1/2,5) logiY/Y,,)

(Y/dYbO/(Y/dY), 1 90 rz,s 1xr1/2 5=0,40
(YIdY)g/(Y/dY)= 42 D,=-8,42
(Y/dY} g/(Y/dY] o 52 Yu 18, d\=4,27
Iog[(Y/de YIdY)I=0, m=0,39
* =50, dY,=4,27, Y, /dY,z4- =
7 1 bereich
1y =18
Ya=3,6  Y\y=90
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